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. (a) Factorise 8x—20 (4)) 7. (a) Expand and simplify 3x+4)+2(5x-1) ?2)
(b) Factorise fully 10x% — 15xy ?2) (b) Factorise completely 6)* — 9xy ?2)
(3 marks) (4 marks)
. (a) Factorise 3x+12 1)
8. (a) Factorise completely 6)* + 12y ?2)
(b) Factorise fully 2x% — 4xy Q)
(b) Factorise 5x-10 )
(c) Expand and simplify 3QR2a+5)+5(a-2) ?2)
(5 marks) (c) Factorise fully 2p* —4pg (2)
(5 marks)
. (a) Expand 32y-95) 1)
(b) Factorise completely 8X2 + 4xy (2) 9. (a) Expand and 51mp11fy 3()( + 5) e 2(5x — 6) (2)
(3 marks)
(b) Factorise 5x+10 ())
. (a) Expand 4(3x +5) (1) (c) Factorise x2—Tx )
(5 marks)
(b) Expand and simplify 3x—4)-2(x+5) ?2)
(3 marks)
10. (a) Expand x(x+2) ?2)
i (a) Factorise x2 + Ty (2) (b) Factorise 15x—10 (2)
(c) Expand and simplify 2x—y)—3(x—-2y) ?2)
(b) Expand x(x+2) 2) (6 marks)
(c) Factorise completely 2% — 4y ?2)
(6 marks) .
11. (a) Factorise 4x +10 )
. (a) Expand 3(4x +y) @) (b) Factorise fully 6y* + 12y @)
b E d Sp(p—3 2 (c) Factorise 4+ 6x ?2)
(b) Expan P(p—3) (0] (5 marks)
(c) Factorise completely 8y? — 24xy ?2)
(6 marks)
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12. (a) Expand
(b) Factorise

(c) Factorise

13. (a) Expand
(b) Expand

(c) Factorise

14. (a) Factorise

(b) Factorise

(c) Expand and simplify

15. (a) Factorise
(b) Factorise

(c) Expand

16. (a) Expand
(b) Expand the brackets

(c) Expand and simplify

3(2y-5)
8x2 + 4xy

4x + 10y

30c+ 4)
x(x? +2)

x°—6x

p+p
X2+ Tx

4(x—3) = 2(1 —x)

4x + 10y
X2+ Tx

xX(x +5)

52y -3)
p(g—p?

5@3p+2)-2(5p-3)

@)
(2)
(2)
(6 marks)
@)
2)
@)
(4 marks)
)
)

(2)
(4 marks)

0y
1

(2)
(4 marks)

1
0y

ey
(4 marks)

17. (a) Expand
(b) Expand

(c) Factorise

18. (a) Multiply out
(b) Expand

(c) Expand and simplify

19. (a) Expand

(b) Factorise completely

20. Expand the brackets
i 42x-3)
ii. plg—-p*)
iii. 1372 +4)

21. (a) Factorise

(b) Factorise

(c) Expand and simplify

3(2g—1)
2d(d +3)

pitop

7(n—3)
S(2y=3)

2(3x +4) - 3(4x — 5)

yO©* +2y)

6x% — 9xy

3t—12

yi+y

3(2x— 1) —2(2x - 3)

1
2
()
(5 marks)
@
1
2
(4 marks)
(09

()
(4 marks)

()

)

()
(6 marks)

(0]
(0))

2)
(5 marks)

Grade 4
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